B&R

~g™

Hardware Kit
RP17609

S 7 9
@@ © ~ @@ @ 0 -
@ @@/J 4 @

D o ~ ~ @ @ @
@
P @D D"

GERT KAUFMANN Golf Course Manage

Graf-Buttler-Strasse 7 Haimhausen, 85778
+498133907773

https://golfkauf.rrproducts.com/

Details

Specifications
Manufacturer

Replacement Parts
R453009

RP17609-2
RP17609-1

RP3018-2

ment

Includes 26 ea: R3256-23 Washer, RP3018-2 Nut; 20
ea: RP17609-1 Bolt; 6 ea: RP17609-2 Bolt

R&R Products

Washer - Flat 5/16 SAE
Bolt - Carriage 5/16-18
x1-1/2

Bolt - Carriage 5/16-18
x 1-1/4

Nut - 5/16-18 Zinc



